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EMC DC Line Reactor for VFD (DC Reactor)

Product Features EmiEE

« Suppressing the inrush current when VFD power on o MIFIERER

* Reducing the harmonic noise on the mains side

* Ensure reliability and life cycle of electrical devices
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» Reducing rectifier bridge damage from impulse current o MIEERBEIKESRMmMZE
* Rated currents from 1 to 1100A o R%5IZIBRS 1100A HIER
Technical Specifications Approvals & Compliances
Rated voltage 0~1000 VDC 9001:2015
Rated currents 1to 1100A @ 40°C = Complies with
ISO CeTiFiED UL 1283
Overload current 1.2 x Rated Current (1 min./hour)
Registered Quality System CAN C22.2 NO.8
Max Leakage current =0.1mA
Temperature range -25 to +85 °C
Temperature rise =30°C RO H s
C compliant
High potential test voltage L - E 2000 VAC / 2250 VDC P
L - N 2500 VDC
Insulation Resistance L-E =3000MQ Applications
L-> N =2000MQ
Certified to UL 1283, EN55011, EN55022, CISPR 16-2-3,  Variable-frequency Drive
EN/IEC 60950,61000 . .
* Energy-saving equipment

* Robots
* HVAC equipment

* Electrical and electronic equipment
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Filter Selection Table

Rated Rated Resistance Power loss Dimensional
Model current voltage L-L’ figures
@ 40°C (£15% ) (total +15% )
[mQ] (W]
(Al [VDC]

HUA-9010-0410-ZDCL-[] 4 241 0.386
HUA-9010-0610-ZDCL-[] 6 23.7 0.853
HUA-9010-0810-ZDCL-[] 8 23 1.472
HUA-9010-1010-ZDCL-[] 10 223 2.23
HUA-9010-1610-ZzDCL-L] 16 20 5.12 A
HUA-9010-2010-ZDCL-L] 20 15 6
HUA-9010-3010-ZDCL-L] 30 25 2.25
HUA-9020-4010-ZDCL-L] 40 2.4 3.84
HUA-9020-5010-ZDCL-[] 50 23 5.75
HUA-9020-6410-ZDCL-L] 64 1.17 4,792
HUA-9020-8010-ZDCL-[] 80 1.1 7.04
HUA-9020-H100-ZDCL-[] 100 0.8 8
HUA-9020-H125-ZDCL-L] 125 0.71 11.094
HUA-9020-H150-ZDCL-L] 150 0.6 13.5 B
HUA-9020-H180-ZDCL-LI 180 0.5 16.2
HUA-9020-H200-ZDCL-[] 200 0.4 16
HUA-9020-H250-ZDCL-[] 250 0~1000 0.37 23.125
HUA-9020-H300-ZDCL-L] 300 0.37 33.3
HUA-9020-H350-ZDCL-[] 350 0.25 30.625
HUA-9020-H400-ZDCL-[] 400 0.25 40
HUA-9020-H450-ZDCL-L] 450 0.25 50.625
HUA-9020-H500-ZDCL-[] 500 0.17 42.5 D
HUA-9020-H550-ZDCL-L] 550 0.17 51.425
HUA-9020-H600-ZDCL-L] 600 0.17 61.2
HUA-9020-H650-ZDCL-L] 650 0.17 71.825
HUA-9020-H700-ZDCL-[] 700 0.11 53.9
HUA-9020-H750-ZDCL-L] 750 0.11 61.875
HUA-9020-H800-ZDCL-[] 800 0.11 70.4
HUA-9020-H850-ZDCL-[] 850 0.074 53.465 .
HUA-9020-H900-ZDCL-[] 900 0.074 59.94
HUA-9020-H950-ZDCL-[] 950 0.074 66.785
HUA-9020-H1000-ZDCL-L] 1000 0.046 46

HUA-9020-H1100-ZDCL-L] 1100 0.046 55.66
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Product Selector

HUA-9000-0-ZDCL - O

L »  2:VFD operating voltage 220 VAC (+10% ) (220 VAC £5823{FF)

4 : VFD operating voltage 380 ~ 480 VAC (380~480 VAC & 5H22{EF)

1> DC Reactor (DC EfEE%5)

> 1 to 1100 A Rated current (BEEEN)

> 1 : Rated current under 30A (BEREERER 30A)
2 : Rated current over 30A (BEEERSH 30A)

NOTICE:

When selecting the reactor model, please choose our product based on 1.2 times the full load current
(the reactor's safe current range should be 1.2 to 1.5 times the full load current).

Horsepower X 746

Inverter operating current = "
Operating voltage
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Wiring Diagram (1#4R[E)
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Dimensional Figures (R~T[&l) (Unit : mm)
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Dimensional Figures (R~T[&l) (Unit : mm)
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